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Answer: A 

QUESTION: 83 
As a recommended best practice, what is the total number of sensors that should be managed 
through a single Network Security Manager installation? 

A. 25 
B. 50 
C. 75 
D. 100 

Answer: B 

QUESTION: 84 
Which of the following options is the best practice to use if you need to edit all attacks with a 
specific seventy number within an IPS policy? 

A. Use the Bulk Edit feature within the Policy Editor  
B. Create and run the appropriate database query  
C. Edit the attacks individually 
D. Use the Bulk Edit feature within the Reconnaissance Editor 

Answer: A 

QUESTION: 85 
Identity Based Access Control cannot co-exist with which mode of NAC deployment on the 
same port? 

A. DHCP based NAC 
B. System Health based NAC  
C. L2 & L3 Deployment modes  
D. Mixed Deployment modes 

Answer: A 
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QUESTION: 86 

What is the command to force the sensor out of Layer 2 Passthru mode?
 

A. Layer2 mode off 
B. Layer2 mode on 
C. Layer2 mode assert 
D. Layer2 mode deassert 

Answer: D 

QUESTION: 87 

Which of the following CLI commands only removes trust between a sensor and manager?
 

A. Resetconfig 
B. Deletesignatures 
C. Factorydefaults  
D. Deinstall 

Answer: D 

QUESTION: 88 

Which of the following should be applied to policies in both Inbound and Outbound directions? 


A. Policy rules 
B. Reconnaissance rules 
C. Attack parameters 
D. Rule sets 

Answer: D 

QUESTION: 89 
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Select the deployment method which enables the most effective Protection/Prevent on mode of 
operation. 

A. in-line  
B. SPAN 
C. TAP 
D. failopen 

Answer: A 

QUESTION: 90 

Which NSP sensor models support VLAN Bridging? (Choose three) 


A. M-1450 

B. M-2850 

C. M-3050 

D. M-4050 

E. M-6050 


Answer: C, D, E 
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